Math 104
Homework #5
Due Wed., March 5
Name __________________________
Show the work you do for these problems on additional pages.  Attach the papers to this sheet, with problems numbered and in order.

1.
Do the Chapter 4 Test in your book, pages 217-218 and attach your work to this paper.

2.
What ideas in the last week have been the hardest for you?  Please explain on the attached work papers, remembering to use sentences.

3.
This table shows the number of Starbucks stores since 1990.  
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a.
Create a scattergram for this data using t as the 



number of years since 1990.  Sketch a curve that



fits the data. 
 



b.
Let t represent the number of years since 1990.  Find an exponential function for the number of stores t years since 1990.





  _______________________________

4.
Simone invests $10,000 in an account that earns 4% interest, compounded annually.  How much will be in the account after six years?

5.
Find the inverse of each of these functions.
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6.
The function 
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 models Mexico’s population in millions t years since 1900.


a.
Use M(t)  to predict Mexico’s population in 2010.  (Write your answer in a sentence.  Round your answer to one decimal place.)


b.
Find 
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.  What does this number mean in respect to this problem?  (Round your answer to the nearest integer.)  

(There are more problems on the back!)

7.
Evaluate each of the following.  Write your answers in the blanks, rounding answers to four decimal places if necessary.


a.
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8.
Simplify each of these.
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9.
Find the solution for each equation.  Round answers to four decimal places.  You may do the work on this page.
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